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A model rocket of mass 0.250 kg initiall

b. Using that net force, if the engine fires for 2 seconds, what
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is the impulse the engine provides on the rocket?

c. Using that impulse, what is the speed of the rocket when the engine stops firing?
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d. What is the acceleration of the rocket? Hint: you can use the answer from either a) or ¢) to find the answer.
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e. Using kinematics with the acceleration from part d) (not acceleration due to
engine is firing?
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gravity!), how high does the rocket 20 while the

ject i ly by gravity). Usin
i i t the rocket as an object in free fall (acted on only . : : s
th ; "ty};eneigzi;lgx‘;ait;};ﬁﬁr% l:gei:g;atnwni.ﬁathe rocket reach? Hint: you can use conservation of energy or kinematics to fing this
c) as the initial v A :
answer. Don’t forget to add the height from part e).
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